IlepeueHb OCHOBHBIX /ieTasieil ¥ y3/10B ra30HOKOCU/IKHM PYUYHO# 3/1eKTpuueckoi I'P3-1,5-02

YTBepxxjaro
Hauansnuk OTO

Kosznos IT.A.

20 T
VnxeHnep
SIxoBenkor U .K.

71

73"
[ononHuTenbHas
pykoaTka

74




IlepeyeHb OCHOBHBIX JeTa/ied M y3/10B ra30HOKOCH/IKH PyYHOH 31eKTpuueckon I'P3-1,5-02

I1 HaumeHoBaHue K I1 HaumeHoBanne K I HaumeHoBaHue K
1 [Inyp ceteBoii ¢ Bunkoii (L-0,4 m) 1 43 [ITtraHra BepxHsist B cObope 75 BuHT camopes 4x14 2
2
2x0,75 Mm 43.1 BTYJIKa (I/IaCTHK) 3 76 Hox 1
43.2 LITaHra BepxHss 26x650Mm 1
2 Tpy6Ka 3aumrHas 1 N
44 Pyuxa kpomTeiia 1 77 Koxkyx 3aluTHbIi B cbope
3 [TnactuHa NpywXUMHast 1 77.1 (hapTyK 3alTHOTO KOXKyXa 1
4 Bust camopes 4x12 9 45 [Taii6a D6 1 77.2 KOKyX 3aLUTHBIH 1
46 KpoHITeliH KperieHust ITaHr 1 77:3 raitka M6 2
5 Konpercatop 0,33 uF 250B 1 P P - Bum M6x16. S5 5
6 47 Bunr M5x8 S4 1
» 48 Bunt M6x24 S4 1 79 BoGuna s cGope SUII
7 Kopnyc neBbiii 1 79.1 KOXKYX 3alllATHBIH 1
8 E 1 49 [Taii6a D6 1 79.2 KaTyIika 1
JIOKUPOBKA BBIK/TIOUATE IS - - p . 79.3 [1aiiGa @39 >
9 IpyxuHa Kpyuenus 1,5x12x6 1 auba [Py dTHHas 79.4 npy>kuHa 2x38x58 1
51 IlITaHra HIDKHSSA B c6ope 79.5 KopItyc 606HHBI 1
10 Ckoba 1 511 3
: BTY/IKa (T1aCTHK) 80 Hox 255x25,4x3T 3UTT 1
11 IMpyxuna 0,8x9x25 1 51.2 ¢uxcarop 1
12 K 1 51.3 1ITaHra HkHss 26x730 MM 1 81 Koy mecturpanusiii S4 3UTT 1
JIaBHILIA BBIK/TIOUATE IS "
51.4 KPOHILTeWH KperyleHUs! KoXKyXa 1 82 Kttou wecturpasmbii S5 3VIT 1
13 Briktouatens 16(12)A 250B 1 51.5 3aKJIerKa 1
o 83 Kitou kombunHMpoBaHHbIi 3UTT 1
14 3arylika B KOpIyc (T/1acTUK) 1 52 Bat xxectkuit 8x750 Mm 1
15 BunT camopes 4x14 11 53 PenyxTop B cGope
53.1 | KO/BLIO CTONOPHOEe BHyTpeHHee 26 | 1
16 Buht camopes 3x16 53.2 KOJIBLO CTOMOpHoe 10 1
17 Kopryc rpasblit 1 53.3 roAwmnHuK 6000 RS 2
53.4 BasI-11ecTepHs Z-15 1
18 - 53.5 KOpITyC peflyKTopa 1
19 Ilerka 7x11x17 ) 53.6 nopmrnHuk 6000RS 1
53.7 wectepHs Z-20 1
20 Bunt camopes 3x8 2 53.8 mnuHzens L-82,5 Mm 1
21 ILleTKoaepKaTesb (1aTyHb) b 53.9 nopwmnHuK 6002 RS 1
53.10 | Ko/bLIO CTONOpPHOE BHyTpeHHee 32 | 1
22 laiika M8 1
54 Bunr M6x25 S5 1
23 Brynka @8 1 "
55 [Taii6ba 6 1
24 Kpbuibuatka 1 -
56 [Ta#i6a rpyxuHHAs 6 1
25 DraHell 1eTKoep>KaTenen 1
57 Bunt M5x11 S4 1
26 Crarop B cbope z
26.1 cTarop 1 58 IlTaiiba 5 1
26.2 TepMornpefioxpanutens 130A6 1 59 [11aii6a npy>xuHHasi 5 1
27 Hopumnunk 608RS 1 60 BuHT cneriuansHbiil M6 1
28 Hxops 1 61 draHel MbLIe3alUTHBINA 1
29 [Mopgmmnuuk 6001-2RS 1 62 Bunt M5x10 S4 3
30 ®naHel; apuraress 1 63 IIlaii6a 5 3
31 BunT camopes 5x55 2 64 [MTait6a rpy>kuHHAsS 5 3
32 Hopmmnank 607RS 1 65 driaHel| BHyTpeHHUIA 1
33 Koo cronopHoe 10 1 66 drianen 1
34 Koneco 3y6uaroe Z-24 1 67 dranel| BHeLIHUI 1
35 [nonka cermenTtHas 3-3,7-9 1 68 Taiika M10 (11eBast pe3n6a) 1
36 HInuszens L-59 1 69 PyKosTKa BepXHss 1
37 [Nopmmnuuk 6000RS 1 70 Bunut M5x35 4
38 Kpeiika peiykropa 1 71 Haxknagka (pesuna) 1
39 BuHT camopes 4x13 4 72 PyKOSATKA HIDKHSAS 1
40 dukcatop (ckoba) 3 73 Taiika M5 4
41 Brynka npuBogHas L-51Mm 2 74 Pemenb 1
42 Barn >xectkuii 8x625MM 1




